6 ¢ WHEKEZTDIST 2022 FERTH EEHY Al (£B2R)

RDENENDEZRD K.

1

a) log,32=1o0g,2° =5 b) log,s5 = log,s257 = 1
<) logZ% =log,27? = -2 d) log, 16 =log, 4> =2
e) logs5=1 f) log,2 =log, 4> =
g) log, % =log,37! = -1 h) logg v/2 = log, Vst = logg 8¢ = 1
IRDICD x 2RO K.
a) log,x =3 b) log4x=—%
x=23=38 x:4—%:ﬁ:%
c) logyx =2 d) log,,x =3
x=32=9 x =273 = (3%)3 = 3%(= 19683)

WHDEREICKD, log, M =r, log, N =5 THDIEIEM =a”, N =a° BEDIIDTEICHR

5730, ZCT, M =d", N =a' &EET, BEENZFNARLT, ROBLDO/HBOMEEZBE K.
a) log,(M x N) =log, M + log, N b) loga(%) = log, M —log, N

(F3D) = log, (a” x a*) (D) = 1oga(f72)

—log,a™+s (. i5EnEAl) s

=log,a"~ (. 3580%A)
=r+4s (- WHDES) — ¢ WBOEZE)
= log, M +log, N =log, M —log, N
= (B = (BiD)

c) log, M" =nlog, M

(Z53D) = log, (a")")

=log, a"" (.- 388058
=n4 (- NBOEE)
=nlog, M

= (BD)
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p=log,2, q=log,3LTBEE, RDE%Z p, q TKE.

a) log,8 =1log,2* =3log,2=3p b) log, 18 =log,(2 x3?%) = p + 2¢

c) log, 12 =1log,(2* x3) =2p +¢ d) log, 1.5 =log, % =log,3—log,2=q—p

MO LD ESTEE K.

a) log, % —logZ% = log, 3 —log, 2> — (log,3—log,2) = -2+ 1=—1

! V5 _ Liog 5 (Liog 5 _
b) Elog35—log3T— 2log35 (2log35 log33)—1

) log,(3+ +/5) +1og,(3—5) = log, (3 + v/5)(3 — ﬁ)) =log,(9—5) =log,4 =2

d) 3log, 15 —logs 135 = 3(log, 3 + log, 5) —logs(27 x 5) = 3(logs 3 + 1) — (3logs3 + 1) =2

(6] RDE4DNEBBRICE L.

1 3 1 3
a) 5 log, 125 +log,, = —log;( 0.3 = < log,, 53 +log,, 3 —log,, 5 —log,, 0
=log,, 5 +log,,3 —log,, 5 — (log,,3 —log,, 10) = 1

A B C A B C
b) logaE—FlogaE%—logag=loga<§-?-j) =log, 1 =

WHDEEICKD, a8t = p PROITD. TOXDTELD ¢ ZEREIT DM ERDZEICLD,
log, b % log,a & log, b TKRE. [BONINIEOERATNEMENS. ]

a'%8ab = b OEPDD log, ZED log, al%8ab =log, b. TNk D (log, b)log,. a = log, b.

log,3 =m DEE, log,6, log,27% m TKRE.

log,6  log,2+1og,3 14+m b) log, 2 = log, 2 _ 1
= = ;2= =

a) logs6= log, 4 2 2 log,3 m

[(RiTH&E<]



9] EOZ|ATNAEBVTRDINABECE L.
log,a

a) log,b-log,a =log, b - log, b

log,c log,a
log,b log,c

b) log, b -log, c-log,.a =log, b

B y = log, x [CDVWTRDRICHTIEES x DEENMTERE. 7=12L, 2% = 1.414 £ T 3.

x | 0125 | 0.177 | 0.25 | 0.354 0.5 0.707 1 1.414 2 2.828 4 5.656 8

y| -3 |25 =2 | —-15| -1 | =05 0 0.5 1 1.5 2 2.5 3

BIR7ZRMRLT, 1888 y =log, x DI ST TS DRO TEITHIT.

185 : B M (kuwata.04f@g.chuo-u.ac. jp)

4DDREH y =3%, y=3"", y=logyx, y=—log,x DISI%HF.
=3 ¢=3*

232 (THFOEED. 7272L. log,,2 = 0.3010 £T 3.

log,,23? = 41log;,2 =32 x0.3010 = 9.632 7D T,
log;o 10° < log,, 232 < log,, 1010

BEOIID. ThiF 232 B 10 DT, BRUOHZTH 2 THDEAERLTLD.

WIRH, HIBOHS A% 1 KEBI DI, %@%@‘@%7&%5&\5. ZDONS 2z ML
FER-HOEBERTBDE, HEHNDHED % KUTICSBHENDD. 12120 log,,3 = 0.4771 £T 3.

1MIBT IR EICHER (lio) (C5BDT, n WBRI-HSAERTT D ENEIITOD (%)
723, Chit % RIS HRIZEL.

9 1 9 1
(E) < 3= logm(E) < log;o 3= n(log;o 9 —log,, 10) < —log,, 3

= n(2log;p3—1) < —log,, 3

—n > —log; 3 _ —0.4771

= =1042...
= Jloge3 1~ —0.0458 "
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